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00D(fg)=(Df)g+f(Dg)0 f=2a",g=2"000000000D (f*)=nf"""(Df)
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0e6.0 KODOOOOODOO fOoODOOfOOODODOODOODO Df=0000O0O
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000000 s—y00~€ K(®)0OOO0000 B=0—-cy0 ce KOOOOOOO
BeK((@)0D0DD0000 L=K(0) 0000

000 L= K(at,q0,...,00,) (KOOOOO,09,...,am 0 KODODOO)DOOO
[/KO0O0OO0O0OOODD0O0000 mO000000000000 O

0 L0000000000000000000000000 LO0O0O000000 00
0 Aut(L) D000

00 L/KO000 KOOODOOOO Aw(L)0000000000000000 L/K
00000 000 Gal(L/K)OOOO

00 24. 00 L/KOO00O0O00000 #Gal(L/K) < [L: K|O
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0000000 KOOOOO ¢g00000 A=g4(a)dgO0000 ¢000000000
o€ Gal(L/K)ODOD0O0 o(\) =g(o(e) 0 Gal(L/K)0ODDOO0O0000 60 o(a) 00
000000000000000000

f=Ir(e,K)000O0f0000 KOOO o 0000000000 f(o(e)) = o(f(e)) =
00 o(@)0 000000000 $Gal(L/K) 0O LOOODO f00000000000
000 degf 00000000500 degf=[L:K] 00000 $Gal(L/K)<[L:K]O
ooo O

Auwt(L) 0000 GOO000 LS={acL|o(a)=alceG)}0 LOOOOO LO G
000 000 0000

00 25. L000GO Aut(L)DDDDDDDK:LGDDDDDLDDD al KOO
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0000000000, as,..., 0 LOO GOOOOOO « 00020000000
000000000

Proof. f(x) = (z—a1)(z—a2) - (z—aq) OO0 0D0O0GOOO0OOO00O0O0O ag,as,... ok
0doodooobDoooOooodoog fO0 GoOO00DO0ODOO0OOOO0ODOOO fOODO
0 KOODO 0O fO0O0000C0OO0 KOODOODOODOO

f000000 ;0000 ay=0(a) 000 ¢ GOOODO0OD00O0 g€ Kz
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gbbooboboobboooboobuoobbooboobobg bodga

00 12. LOODOGO Aw(L) 0000000K=L6 0000000 L/KOO000
0000 G=Gal(L/K)0tG=[L:K|]0000000

Proof. 00 250000 a€ LO0O0OO Ir(e, K) 0 LODOOO0O000O0O0O0O000OO
00000 L/K 000000000000

MO [M:K]<ocoOOODOOO L/KOO000O00000 L/KOOO0OO0O000 M/K
000000000000000 M/KOOOOOOOOO ael 00000 M=K(a)
0000000 [M: K] =deglr(a, K) 0000002500 [M: K]0 LOO GOO
0000 «0000000000000000 [M:K]O $G0000000

MO [M:K|<coOOODOOO L/KOODODOOOD [M:KOODOOOODOOO
000000 AeLO00O0 A0 KODODOOO [M(A):M]<ocoOOOODODOOOO
000 [M(A): K] <ooO [M(\):K]=[MX\ :MJ[M: K O0OOOOMOODOOOO
[M(\):K]=[M:K|]O [M()\):M]=10000 M=LO0O0OO0O00 L/KOOOOO
000000000000000000(L:K]O $G0000000

0004Gal(L/K) < [L: K] < #G < #Gal(L/K) 00 G = Gal(L/K)O#G = [L : K| O
ooo [

00 13. 00000 L/KOODO #Gal(L/K) 0 [L: K| 0OODODO0O0O000Gal(L/K) =
[L : K] 000ODOODOOO0O0O000 L/K 0000000000000000000
K=[CL/EK opopoooon

Proof. M = LC¥/K) 0oOo0o00 1200 L/M 0000000 #Gal(L/K) = [L : M]
O000[L:K]=[L:M][M:K)0OOO $Gal(L/K) O [L: K] OODOOOOOOO
#Gal(L/K) = [L: K] 00O0O0O M=K O0OO0OO0O L/KODODOOOO K = LOML/K)
oood

00 L/KOOODODOO0DO00D0000000000 #eL 00000 L=K(@6)O
O00f=Ir(d,K)Heg f=n 0000 f0000 L/KODODODODOOOOO f0O
LOOODODOOLODOO fO000 64,6y,...,6,06,=0000000¢0 LO KOOO
000000f000000 KOOO o 00000000000 f(a(0)) = a(f(0)) =00
000000 ;0000 (@) =0; 0000f000 6, 0000 0;00)=06,00000
0L0KOOOOD ¢; 0000000000000000

g(z)Oh(z) € K[z 0OOD g(@) =h(9) 000O0Og-h000000 f000000000
f00000 60,0000 g(0;)=h(A;) 0000L=K(@)0O0 LOOO0DO g€ K[z] O
0000 ¢(0) 00000000000000000 g€ Kz]O0O0O0 o;(9(0)) = g(6;)
00000 0;: L — LO0O0OO00O0O00000000000 o; 0 KOOOO 60 6,
000 LO0DO00O0O0O0O00000d

2{o(a)|ceGOOOn
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f000000 L/KOOOOOODOOOOOD LOOOD 000000000000
000 Gal(L/K)0OODOO0O000000000 $Gal(L/K) O f0000000000
#Gal(L/K) =deg f00000000000000 500 $Gal(L/K) =[L:K|]0000 O

0026 MO L/KOOODODOOOOL/KOOODODODOOOODO L/MOOOOO00OO
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O00fy 0 LOOOO0OO0O0O0O0O000000000000 L/MOO0O0DO000000
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O00L/KO0O000D00000000000 M/KOOOOOOO,000 M/K O
D00DO000O000000o0O0 O

00 27. L/)K0000O0O0OMO L/KOODOO0O0000O0OO0O0O0 M/KOOOOOO
00000000000000 o€ Gal(L/K)OOOO o(M)=M 000000000
000

Proof. a € M,f =Trr(o, K) D000 L/K 0000000000000 K = LGL/K)
00000 f0 LOO0ODOOfO00O LOO Gal(L/K)ODODOODODO 000000
D0000000 f0 MOOOODOOOODOOOOO o€Gal(L/K)O0O0OO o(a) e M
D00000000000M/KODOODOOO0OO0OO0 MOOOODOOD KOOOOOOOO
MOODOOOOODODO0DO00O0O00OM/KODOODOOOO0O00000 o € Gal(L/K)
0000 ¢o(M)cMDOOOOOODOODO0ODO0000O0 o€ Gal(L/K)OOOO
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0 10. L/KOOODOODOOMO L/KOOOOODOOOOO M/KOOOOOOOO L
0000 KOOOO e 0O MOOOO oy 0 MO KOODDODODOOO

00 14 (0000000000). 00000 L/K 0000, L/K0000 MOO000
0 Gal(L/M) 00000 Gal(L/K)OOOO GOO0OO0 L€ 0000000 L/K OO
00 MO Gal(L/K)O0OOO GOOOO0O0DD00000O0OM/K 000000000
00 Gal(L/M) 0 Gal(L/K) D0ODO0O000000000000000 Gal(M/K) 2
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Proof MO L/KOOODOOO0ODO0OD2600 L/MO00000000D000O00OOOO
0000000012000 130000000000

L/K 0000 MOOOOODOO?2r00 M/KOOOOOOOOODDOODDODO o €
Gal(L/K)DDOOO o(M)=MODODOODODOOOMO oM)DOOOO Gal(L/M)
0 oGal(L/M)e~! 000000000000M =¢(M)0O H=0cHo ' ODODODODODODO
O00000M/KOODODOODOOOOO Gal(L/M) DO Gal(L/K)DOOODOOOODO
00000oo0oon

M/KDOOODOOO00O o€ Gal(L/K)ODOOO p(o)0 o |y 0000p: Gal(L/K) —
Cal(M/K) 0OOO0OO0O Kero = Gal(L/M) 0000K = MP(GUE/K) oooooog
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Proof. O
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00 6. KOOOD oOUOUOpUOUODOeDh KODOOOOMODOO 22—cO KO
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